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UNC Charlotte, Department of Electrical and Computer Engineering
ECGR 4101/5101, Fall 2012, Quiz #14

“
Your name: 99 U:*\‘ o Show all work

Modify the following code to set up a 1KHz square wave with a 50% duty
cycle.

7. void InitTimer (void){

MSTP (TMRO) = 0; //Activate TMRO unit AST?(‘TMQI) -:—0,

9. TMRﬁ.TCCR.BIT.CSS = 1; //Count source is PCLK/8
10.  TMR.TCCR.BIT.CKS - 2;  FMRO.TCCR.BIT.CSS = 3,
11, TMRO.TCR.BIT.CCLR = 1; //Timer resets at compare match A
12, TMRO.TCSR.BIT.OSA = 2; //l-output at compare match A

3 5 TMRO.TCSR.BIT.OSB = 1; //0-output at compare match B

14. TMRO . TCORA = OxS'S"OBf/Frequency ’Ff‘f’—f 'TCO'EA' = OXBQ.
15 TMRO .TCORB = Ox}O'OSHDuty cycle TMQ' ’KOP% o DC

16, //Pulse outputs to TMoO, which is also P22/USB_DRPD

17. //Can be monitored by touching a scope probe to the top
18. //of resistor R46, near bottom right corner of ethernet
19. //port. Port JN2 provides a ground.

20, }

’rcoa,B V2 of TCORA Vall
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